< Diameter is times the radius.

“ONNENDERC T e

‘ lines can be drawn through a point.

E‘: . One J b. Two ) e Ten | &m
7. The length of the circle is called | )

s radius. b. diameter. _)

circumference. d. semicircle. ) ; H‘;?

8. A polygon made of 3 line segments is called a

) b. triangle. e. rectangle. J d. MQ!

B. Draw the lines of symmetry.
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Tick (&) the correct unit of measurement.

ika is nine years old and weighs 35




00 _ } fo go to the neighbourhood park.
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“ way bad; ﬁ“OIl; the park she buys 2 of milk.
B. Solve and compare using >, < or =,
@1’m40cm @ZmZCm 2. 4100 m Z) 4 km 10 m
3 4750g T 43 kg . 42110 mL (&) 2110 mL
s 650 cm \9 65 m :
| C. Express in the unit mentioned.
1.14ikg=_3~ﬂg 23m5em=_20%¢cm
3 5km355m=5%9m 4,4%kg=_L|L‘Og
s 7m32em=_932 cm 6.2000g=__ 2 kg HADIG
W em=_ 5 m_ 25 cm 8.250m=_-G  km
750 mg = L%;_ g 10. 6000 cm =_ 60

D. Solve these word problems.

1. Amit’s height is 120 cm and Bhim’s height is 107 ¢cm. Who is taller and by
how much?

2. A family consumed 20 kg 500 g rice in March, 18 kg 375 g rice in April and
24 kg 125 g rice in May. What was the total consumption for three months?

3. 550 L 500 mL water was equally distributed among five families. How much
water did each family get?
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